Experiment – 2
Object: To determine the chloride content in supplied water sample using Mohr’s method
Chemicals required: Standard Silver Nitrate (N/50) solution, Potassium chromate (K2CrO4) indicator.
Apparatus required: Conical flask, Burette, Pipette Beaker, Measuring flask..
Principle/Theory:  Mohr’s method is used to determine chloride content in a water sample. In this method a slightly alkaline solution is titrated against standard silver nitrate solution using potassium chromate as an indicator. As the titration proceeds, the chloride ions present react with AgNO3 forming insoluble white precipitate of AgCl. The extra drop of AgNO3 reacts with the indicator, forming red silver chromate. The change of colour from yellow to faint but distinct brown colour marks the end point.  
NaCl	+	AgNO3			AgCl	+	NaNO3
2AgNO3	+	K2CrO4		AgCrO4	+	2KNO3
Red colour is formed because of the formation of Silver Chromate. It disappears as the solution contains high concentration of chloride ions. 
Ag2CrO4	+	2Cl-				2AgCl		+	CrO42-
Procedure/Method: Take 20ml sample solution in a conical flask and at least 2-5 drops of potassium chromate indicator. Slowly add standard solution of AgNO3 from the burette to the volume of the sample solution. Note down the volume of AgNO3 as an end point when yellow colour stars changing to red colour. Repeat the titration for concordant reading. This blank correction should be deducted from the volume of the sample titration. 
Observations: 
 	Reading with unknown Solution: 
	S.No.
	Vol. of unknown Solution  taken
	Burette reading
	Vol. of  AgNO3solution used

	
	
	Initial
	Final
	

	1.
2.
3.
	20ml
20ml
20ml
	
	
	



Reading after distilled water the solution: 
	S.No.
	Vol. of distilled water taken
	Burette reading
	Vol. of AgNO3solution used

	
	
	Initial
	Final
	

	1.
2.
3.
	20ml
20ml
20ml
	
	
	



Calculation:
Volume of sample solution taken = 20 ml. 
Volume of AgNO 3   used = (V2-V1) = V ml 
AgNO3   = =   Sample Solution 
N1V1	=	N2V2
1/50    x   V1	=	N2   x 20
N2	= 	V/50 x 20
Strength of Cl- ion 	= N2 /50 x 20 x 35.5 gm/Ltr.
= N2/50 x 20 x 35.5 x 1000gm/Ltr.
Result: 
The chloride content in the given water sample =……………. mg/Ltr.
Precautions:
1. The glass apparatus should be cleaned with distilled water. 
2. The reaction content should be continuously shaken during titration. 
3. Equal volume of water sample and distilled water (for blank correction) should be taken. 
4. Equal drops of indicator should be used in all titration. 
